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Time allowed for this paper
Reading time before commencing work: 	ten minutes
Working time for paper: 	three hours

Materials required/recommended for this paper
To be provided by the supervisor
This Question/Answer Booklet
2 x Extended Response Answer Booklet
Multiple-choice Answer Sheet

To be provided by the candidate
Standard items: 	pens (blue/black preferred), pencils (including coloured), sharpener,
	correction fluid/tape, eraser, ruler, highlighters
Special items: 	non-programmable calculators approved for use in the ATAR examinations
Important note to candidates
No other items may be taken into the examination room. It is your responsibility to ensure that you do not have any unauthorised material. If you have any unauthorised material with you, hand it to the supervisor before reading any further.


Structure of this paper

	Section
	Number of questions available
	Number of questions to be answered
	Suggested working time (minutes)
	Marks available
	Percentage of examination

	Section One:
Multiple-choice
	24
	24
	30
	24
	24

	Section Two:
Data interpretation / Short response
	3
	3
	70
	36
	36

	Section Three:
Extended response
	4
	2
	80
	40
	40

	
	
	
	
	Total:
	100




Instructions to candidates

1.	Answer the questions according to the following instructions.

Section One: Answer all questions on the separate Multiple-choice Answer Sheet provided. For each question shade the box to indicate your answer. Use only a blue or black pen to shade the boxes. If you make a mistake, place a cross through that square, then shade your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.

Section Two:  Write your answers in this Question/Answer booklet. 
Section Three:  Write your answers in the Extended Response Answer booklets provided. Start each question in a separate booklet.

2.	You must be careful to confine your responses to the specific questions asked and to follow any instructions that are specific to a particular question.

3.	Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.
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[bookmark: OLE_LINK4][bookmark: OLE_LINK3]Section One:  Multiple Choice		         (24 Marks)

This section has 24 questions. Answer all questions on the separate Multiple-choice Answer Sheet. 

For each question shade the box to indicate your answer. Use only a blue or black pen to shade the boxes. If you make a mistake, place a cross through that square, then shade your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question. 

Suggested working time: 30 minutes.     
___________________________________________________________________


1. Which of the following is likely to improve Australia’s competitiveness in the global economy?
(a) Increased spending on transport infrastructure in Australia
(b) An appreciation of the Australian dollar
(c) Deflation in the major countries in the European Union
(d) A change in the industrial relations system in Australia toward more centralised wage determination

2. Which of the following organisations is most likely to act if a nation experiences a sudden financial crisis?
(a) The World Bank
(b) The International Monetary Fund
(c) The World Trade Organisation
(d) The United Nations

3. A newspaper headline stated ‘Free trade helps the world’s poorest’. Why might this be correct? 
(a) Employment will be focused in hi-tech industries. 
(b) Environmental disasters will be avoided. 
(c) Free trade reduces competitiveness for domestic firms. 
(d) The cost of living is likely to go down with free trade. 



4. Which of the following does NOT explain the change in direction of Australia’s pattern of trade in recent years?
(a) The Asia-pacific region has achieved higher rates of economic growth than Europe and the USA.
(b) The discovery and development of major natural gas reserves in Australia is expanding.
(c) Lower transport costs have given Australia an advantage when exporting to the Asia-Pacific region compared with Europe.
(d) China has become a more significant participant in world trade. 

5. The infant industry argument for protection
(a) only applies to industries that have high wages.
(b) can be derived from the application of the law of comparative advantage in the short term.
(c) is applicable to industries in which more growth is expected to occur but need more support from the government to survive the initial set-up phase.
(d) only applies to industries that operate at a small scale. 

6. What is true for this country?
[image: ]

(a) There is a deficit in the balance of trade in goods.
(b) There is a deficit in the balance of trade in services.
(c) There is a surplus in the balance of trade in goods.
(d) There is a surplus in the balance of trade in services.
7. [image: ]In the diagram, the line ML is the economy’s production possibility curve and the line MN is its consumption possibility curve. What does the diagram show?
(a) The economy’s consumers prefer good X to good Y.
(b) The economy’s consumers prefer good Y to good X.
(c) The economy has a comparative advantage in the production of good X.
(d) The economy has a comparative advantage in the production of good Y.

8. Aldi has over 10,000 stores worldwide. When they open a new store in Australia, it is recorded in the balance of payments as:
(a) a credit in the goods component.
(b) a debit in the income component.
(c) a credit in the financial account.
(d) a debit in the capital account.

9. A hypothetical economy recorded a balance of payments on current account of −$12075 million in the September 2019 quarter and then −$3510 million in the December 2019 quarter. What would be the most likely cause of this change?
(a) A decline in foreign investment
(b) An improvement in the terms of trade
(c) A slowdown in world economic growth
(d) An appreciation of the hypothetical economy’s exchange rate

10. Which two currencies have the largest weights in Australia’s trade weighted index?
(a) The United States dollar and the European euro
(b) The Chinese renminbi and the Japanese yen
(c) The Chinese renminbi and the United States dollar
(d) The European euro and the Japanese yen

11. Ceteris paribus, what would be the effects of an appreciation in the value of the AUD? 
(a) Australia’s international competitiveness would decrease and capital inflow would increase as domestic assets become less expensive. 
(b) Australia’s international competitiveness would decrease and capital outflow would increase as foreign assets become less expensive. 
(c) Australia’s international competitiveness would increase and capital inflow would increase as domestic assets become less expensive. 
(d) Australia’s international competitiveness would increase and capital outflow would increase as foreign assets become less expensive. 

12. Australia’s net foreign liabilities have been declining due to
(a) a sustained increase in Australia’s foreign assets.
(b) an appreciating AUD exchange rate.
(c) a favourable movement in Australia’s terms of trade.
(d) a sustained fall in Australia’s foreign debt.

13. Which of the following are likely to be experienced during a business cycle contraction?
(a) rising unemployment and rising inflation
(b) rising inflation and falling economic growth
(c) falling government spending and falling consumption
(d) falling investment and rising government spending

14. Refer to the Figure opposite. If the level of real GDP is initially Y3, spending is ________ production and there is an unexpected ________ in inventories.
(a) [image: A screenshot of a cell phone

Description automatically generated]greater than; decrease
(b) greater than; increase
(c) less than; increase
(d) less than; decrease



15. An economy faces rising raw material costs and a fall in business confidence. How will the economy’s real GDP and the price level be affected?

	
	Real GDP
	Price level

	(a)
	It may rise or fall
	It will rise

	(b)
	It will fall
	It will fall

	(c)
	It will fall
	It may rise or fall

	(d)
	It will rise
	It may rise or fall




16. If an increase of $100m in investment expenditure resulted in an increase in GDP of $250m, what is the value of the marginal propensity to consume (mpc)? 
(a) 0.4 
(b) 0.6 
(c) 0.8 
(d) 2.5 

17. On an AD/AS diagram, which of the following is most likely to reflect government policy designed to increase productivity and real GDP?
(a) The AS curve shifts to the left.
(b) The AD curve shifts to the left.
(c) The AS curve shifts to the right.
(d) The AD curve shifts to the right.

18. Under which conditions is expansionary monetary policy most likely to be effective?

	
	Asset prices
	Consumer spending

	(a)
	Rise rapidly
	Interest elastic

	(b)
	Rise rapidly
	Interest inelastic

	(c)
	Rise slowly
	Interest elastic

	(d)
	Rise slowly
	Interest inelastic



19. The government increases expenditure on unemployment benefits by $100 million. What will the government need to do if it wishes to keep aggregate demand unchanged? 
(a) Raise taxation by $100 million 
(b) Raise taxation by less than $100 million 
(c) Raise taxation by more than $100 million 
(d) Leave taxes unchanged

20. [image: A picture containing table, clock

Description automatically generated]In the diagram, the economy is most likely to move from point P1Y1 to P2Y2 if:
(a) the Government increases taxes to stimulate investment and consumption.
(b) there is an appreciation of the Australian Dollar.
(c) house prices have fallen in the economy.
(d) global growth has increased.

21. The main method for financing a budget deficit is by
(a) Borrowing from the Reserve Bank
(b) Selling government assets
(c) Increasing tax revenue
(d) Selling government bonds to the public

22. Which policy lag is considered to be shorter for monetary policy than for fiscal policy?
(a) Decision 
(b) Recognition
(c) Data
(d) Effect



23. Of the following, which is the most important factor affecting productivity growth?
(a) Growth in the size of the labour force
(b) Advances in technology
(c) Growth in the size of the capital stock
(d) Population growth

24. Which of the following is NOT a reason for low wage growth in an economy?
(a) Low inflation
(b) Low economic growth
(c) Low productivity growth
(d) Low unemployment 

End of Section One


Section Two: Data interpretation/Short response 		         (36 Marks)

This section contains three (3) questions. Answer all questions. Write your answers in the spaces provided.

Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.

Suggested working time: 70 minutes.
__________________________________________________________________

Question 25 	(12 marks)
[image: A picture containing drawing

Description automatically generated]GDP fell 0.3 per cent in the March qrt
Gross Domestic Product fell 0.3 per cent in seasonally adjusted, chain volume terms in the March quarter 2020 while annual growth recorded its slowest rate since September 2009 when Australia was in the midst of the Global Financial Crisis. The Australian economy was impacted by a number of significant events this quarter, starting with bushfires and other natural disasters, followed by the outbreak of COVID-19.   Aggressive expansionary monetary policy has seen the cash rate fall to an on time low of 0.25%



	(a)
	i. Identify 2 events which have impacted Australia’s economic growth in the March quarter.                                                                                           
	( 1 mark )

	
	

	
	
One:

	
	Two:




	
	ii. Identify the main contributor to GDP returning a positive growth rate in the March quarter.                                                                                           
	( 1 mark )

	 
	







	
	iii. Calculate the contribution of total investment expenditure to GDP growth in the March quarter.                                                                    
	( 1 mark )

	
	

	 
	




	(b)
	With reference to the data, discuss the effectiveness of monetary policy in the March quarter.                                                                  
	( 4 marks )

	
	

	 
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	







	(c)
	Using the AE model, demonstrate and explain the effect of the change in net exports on economic growth in the March quarter.  
	( 5 marks )
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Question 26									         (12 marks)

Australia's foreign debt hits $1.2 trillion

Australia's net foreign liabilities reached a 21-year low of 40 per cent of GDP in the March quarter after a depreciating local currency boosted the value of Australian investors' offshore stocks and shares.

Although Australia's debt, such as loans and bonds, has eased to $1.2 trillion, Australian investors' ownership of offshore stocks such as Amazon or toll roads in India is now $338 billion more than foreigners' ownership of stocks such as BHP.

[image: Image]

Australia may have been dependent on foreign investment for much of its history but the overall net equity position since 2013 shows the country has become increasingly self-reliant.

Although the COVID-19 crisis has seen a huge inflow of foreign capital in the March quarter – a record $33 billion stormed in to participate in local companies' fresh capital raisings – the bigger mover in our net equities position was currency.

The Australian dollar fell 11.2 per cent in the March quarter, which increased the value of overseas assets. That currency move alone boosted the net equities position by a record $123 billion in the March quarter, according to data from the Australian Bureau of Statistics.

Source: Australian Financial Review, July 15 2020, 
https://www.afr.com/policy/economy/australia-foreign-debt-hits-1-2-trillion-20200715-p55c5d



	(a)
	Identify one year in which Australia’s foreign equity assets were greater than Australia’s foreign equity liabilities.
	( 1 mark )

	
	





	(b)
	Identify the factor in the March quarter that was the main cause of the change in Australia’s net equity position.
	( 1 mark )

	
	





	(c)
	Identify the value of Australia’s net foreign liabilities in the March quarter.
	( 1 mark )

	
	





	(d)
	Distinguish between foreign debt and foreign equity and provide one cost of each.
	( 4 marks )

	
	


	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	





	(e)
	With reference to the data, identify the contemporary trend for net foreign liabilities and explain the impact of this change on Australia’s balance of payments.
	( 5 marks )
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Question 27									         (12 marks)

Labour productivity and multifactor productivity in the market sector both fell, this continues a spell of weak productivity growth since the peak of the investment phase of the mining boom in 2012-13. Advanced economies the world over have experienced a productivity growth slowdown since about 2005. The Australian slowdown was somewhat smaller, partly because of the investment in capital in the mining sector during this period. 

[image: A screenshot of a cell phone
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	(a)
	Identify the change in Multifactor productivity from 2004-05 to 2018-19.
	( 1 mark )

	
	






	(b)
	Identify the main contributor to Australia’s productivity growth during 2004-05 to 2018-19.
	( 1 mark )

	
	





	(c)
	Explain why capital deepening is important to productivity growth.
	( 2 marks )

	
	


	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	



	(d)
	Describe two possible reasons why the productivity growth from 2004-05 to 2018-19 was weaker compared to the productivity growth from 1994-95 to 2004-05.
	( 3 marks )

	
	


	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	





  


	(e)
	Explain the relationship between structural change and economic growth.
	( 5 marks )

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	



End of Section Two 

Section Three: Extended response 	           (40 Marks)

This section contains four (4) questions.  Answer two (2) questions. Write your answers in the Extended Response Answer booklets and number your answers clearly. Start each question in a separate booklet.

Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.

Suggested working time: 80 minutes.

Question 28	    (20 marks)       

(a) Demonstrate and discuss the impact of tariffs and subsidies on trade and market efficiency.	(10 marks)

(b) Using an appropriate model, explain the economic arguments for trade liberalisation in Australia. 	(10 marks)


Question 29	    (20 marks)

(a) Discuss the concept of an exchange rate and demonstrate and explain factors influencing the value of the Australian Dollar. 				 	             (8 marks)

(b) Australia’s terms of trade has increased from 86 index points in the July quarter of 2017 to 98.3 index points in the July quarter of 2020. Explain the likely economic effects of this movement in terms of trade on the exchange rate, balance of trade and the macroeconomy. 											(12 marks)


Question 30	    (20 marks) 

(a) Discuss three potential causes of structural change in the Australian economy. 	(8 marks)

(b) Demonstrate and explain the relationship between improvements in productivity and the macroeconomic objectives.	(12 marks)


Question 31	    (20 marks)

Using the AD/AS model, discuss the current fiscal policy stance of the Government with reference to the business cycle and evaluate its effectiveness in achieving the government’s economic objectives. 
_________________________________________________________________________


End of Questions
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